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100cm 50cm 5cm 100cm 50cm 5cm
1 | 0.06 0.06 0.07 21 | BRI 0.09 0.14 0.53
2 |mig 0.10 011 015 20 |mEk RIS 0.08 0.08 0.10
3 %EE%’%“% 0.07 0.08 0.09 23 |HHENEFHET 0.08 013 0.28
4 |FEEERE 0.08 0.09 0413 24 |dLFEHERERIE 011 0.12 0.16
MK
5 |mEmAEVALT 0.08 0.09 0.21 25 |1B%= &3 0.06 0.06 0.07
6 |sicnEfE 0.07 0.08 0.09 26 |4E%= SEME 0.05 0.07 0.08
7 |PLEBERE 0.08 0.12 0.20 27 |mER KD 0.05 0.08 0.38
K
8 |msrEmIAH 0.09 0.11 0.14 28 |4LFER KD 0.07 0413 0.45
9o |msrmEE 0.07 0.10 0413 20 |F—kBgkn | 007 0.07 0.10
= 8 EREG R
10 |aEEEsmET | 007 0.08 011 30 |kt 0.07 0.07 0.07
LEFRER EEAKK
11 [JRTIR 0.09 0.10 0.10 31 | 0.08 0.08 0.11
12 |dLor s 0.09 011 011 32
WEEEHAO
13 [EES 0.08 0.09 0.16 33
14 |wErB=mET | 007 0.08 0.19 34
15 |dFstmEE 0.08 0.10 0.19 35
16 |FoMBEERT 0.10 0.13 0.26 36
17 |tERetmET | 015 0.27 080 |s0cmizsmmETsgmE| | 37
AR EER
18 | ERE 0.08 0.09 0.10 38
19 |tEHEERET | 016 0.25 100  |50emiE3EBETLME| | 39
20 |FsrmEE 0.10 0.13 0.24 40
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